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HoveL CHecking / Diaguosies

The irfetnce we aulRined wot pefarmect wncia Hhe oSumpbion #reT
qumm, However, we hove Do wake sSwe S L5 Mhe caw.

AftRr we §b the wodet, we wed To waluole the volidivg ¢ the modet .

We Woutd aiss wh@her the mookl solithes the undadying cSwsmptions

1. nermalits Yoo N(puiy62)  Letygn

2 @Gneaity i B¢ By X

3 homoscdasiuty  voa(Vi)® 67 fou alt ixd,nm

4. indepondena, coW(Vi,%)=0 for rdk

v, equiictay, Yis i+ & witn prfe Bk pricdin
andt & & (o, 6?) for L= 4N

Odwr psichts Ltuey B Valuole ofe :

- i de puncHonal form odequee?  The model may be wXwong needled
covouolls, of nanlivior Tranformokions o Lhe Vouehls

- are there any ouresers? Wnwwal cbturvoriant Moy hae fee muen
lnfma.ohﬁu.mdn& §<C.

Cm.m‘er.foen_\MonM Snies oA The exerciyes )

CRassical, fools to Perform Tne Modl'S olisgrothcs :
* visual inspecrion (pRots)
* KRS

ANALYVS o REWDUALS

We Make aswumphion) on the Model'y UTor Ty &, uhich art WG cofurvalple. .
However, OfRr we eWimoX: Zhe Model, we Coh Compulk the REUDUALS, which are
the * eolopows™ Sampt quowsts  (Wer ancatimemt).

The oSwumpliony on & heve implicakony en The properkies of e

= i the propenies of & de nov hetal for T eshimamal mosll, we Conclude thak
the '\"rwth.w on & wern woU saXigfied.

The cesiducls are €= Re§o iz donn .
We howve alreadsy Shown Some properttes o & :
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wead, Zuer Z w(F-B-Pux) « 2 elutineod egquarion
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d) corv(xe)=0

neleed, »M(x.e)=0 € cov(x,e)=o
w n
o(re) = Z(&-E)(-F) = Zeax-¥Ze =0
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Befose. cbsenving e o, we hove the vordom vouskfes Eie Y- isdyu.
DISTRIBMON ©f E:
i oy Vmw:. normal, d/\hm/b;“hm " " n
€= Ye-¥i = Y- Ba- Baxi = v 'k%v"\’k' ’G’Kz."w"\f“ = l%thYK
for e conVlanls Ck.
Henee B & a @near Cambunarian a} normal vv.'s => EioN(y) nermat

s E[el= E[%-%]. €lv]-E(v.] -
< B“Q'szn..— ﬁt%g(-&lxi.l € P‘fpa,&—p.‘_- sz; =0
= E[el=0
. vou(B) = 62 (4-h)
with hie A+ FY ho s colted 7L6VERAGE®
" E‘(xu-i)‘
= NoT homoscedlaync ! (#hey dependt on e index L)
Nortover, they ae Nor independed

* Distibulion & the resolals: E: ~ NCo, 6*(4-W))  i=gn

ALTeRNATVE DERNITWNS

. Scondordired, eiduals Eie B oith E[&J:o, wr(&)- 62
E: ~ N(o,6%) ke
homotcdlayhe, buk 62 (3 unkvoun

. Studentited vesioluots Ris= :(4_“) with E(R)=0, vo(R)=4

we dow'T have o ke exosl divriburion, hul epprosimelely R ~nN(ol)

»
> we hove T Huowhcal distribusve proputies of the resolols € = Yi-Yo,
Now, we @k ok The reclizotions € ond Wuoly tleir empincel propubes .



